HEYDOHEHYE .

HOTOL)EDOHIVEEZLILL),

D 16 + 6 = 2 »Y @ 30 HEY
@ 29 + 5 = 5 »3Y ® 47 HiY)
@ 21 + 5 = 4 »3Y | 2 HiY)
@ 41 + 5 = 8 »zY @ 55 HEY
® 18 + 4 = 4 »zY 4 | HEY
® |l = 3 = 3 #»zY 28 XD
@ 19 -+ 2 = 9 »zY Q 9 HzY
7 + 2 = 3 »FY @ 33 XD
@ 65 + 9 = T »zY @ 58 HEY
13 + 2 = 6 #»Y D I HEY
@ 35 +~ 6 = 5 »zY @ 18 HEY
@ 54 + 8 = 6 »zY ® 30 HEY
® 22 = 7 = 3 »nzY 2 34 HEY

/26




HEYDOHEHYE .

HOTOL)EDOHIVEEZLILL),

D 16 + 6 = 2 »Y 4 @ 30 HEY
@ 29 + 5 = 5 »zY 4 ® 47 HiY)
® 21 = 5 = 4 »nzY I | 2 HzY
@ 41 =+ 5 = 8 »zY | @ 55 XD
® 18 + 4 = 4 »zY 2 4| HEY
® |l = 3 = 3 #»zY 2 28 XD
@ 19 + 2 = 9 »zY I @ 9 HzY
7 + 2 = 3 Y | @ 33 HEY
@ 65 + 9 = 7 »zv| 2 @ 58 HEY
13 + 2 = 6 »zY I D |1 HEY
@ 35 +~ 6 = 5 »zY 5 @ 18 HEY
@ 54 + 8 = 6 »zv| 6 ® 30 HEY
@ 22 + 7 = 3 »zY | 2 34 HY

/26




